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I 2 mwn: dispute pynw *1/nTin 1 about Max nron — if it is killed (if n'Yya »a73)
a 7777 77 M2 nrovn also nnn
b @77 only nnn Tm nron
i Argument: other mnn mxon (7791 MNY NROYN ,ARON NINN ,NRLN ToN1) can only be Y2 > AN Max NRON PR
¢ Background xn»1xv.1implies that if he set aside nron and it got lost, he designated a replacement and found the original
one before offering any, that he may bring either
i However: my>2 indicates that he may only bring one
ii  Nn773as to status of other one: N "1 — grazes; W™ —is killed
1 Challenge:nmn ™, in our mwn, certainly accepts nnn nron
2 Rather: switch positions in xn»92
(a) Challenge: w™ certainly accepts mnn mron vnn
3 Rather: don’t switch positions; 1 holds nnn only if it was still lost when the replacement was offered
4 Or: both are cases where it was only lost when replacement was designated
(a) Difference: nmi '3 according to »a1 (dies) or according to 1111 (grazes)
iii ~challenge: no one is of the opinion that 11a¥ nkon whose “p’>va” died should be nnn
1 proof: v. 2 identifies m5p as mron, per 811, these were nYar) 1R MrYN, brought for 1"y of 2 generations back
(a) assumption: anyone who holds nnn n°9»1 1195w ¥"n also holds nnn 1Y5va 1Mnw ¥n; here, they’re all dead
(b) rejection (9”7): no one holds nnn MYYa MNY 2N — because the Max doesn’t die
(i) arqument: (not from v. 3 —if so, even T nron wouldn’t be killed; heir would bring it) from %1 »yw
and n"; some of the “owners” (donors of Ypwn nx¥nn) died in the meantime, yet it is brought
(c) alternate answer: the mron brought in v. 2 were brought for those still alive from then (v. 4)
(i) and: perv.5, they were the majority (else their »22 would have been drowned out by the nnnw)
(d) challenge: how could they bring mxon for 1"p? It was done (Y1’pT¥ '11) intentionally
(i) answer(pany 79): it was a special "R — as proven by the w13 (never brought for nxron)
I Aggadic excursus about ma%n forgotten during 5ar for n”yan (including mnn mron) - vv. 6-16 (including Y%’y and yay)
I  w™’s ®n»12 about MNn MRYN
a 957 5 mnn mron — (1) nrRon 19N, (2) NRVN NIND, (3) 1YY INNY NRLN, (4) MY 199V NRYN, (5) NIV NIPY NRLVN
i 712¥. couldn’t have #1-3, since 7128 n&ovn is male, 128 can’t be 1'nn and Max doesn’t die
ii ~ 4-5:infer from 1-3 that they only apply to Tn nxon
1 Challenge: we don’t infer a case of 7war from war 'R
2 Answer: 9" inferred them from one source (all judged together)
3 Explanationl (5”): originally, 4 were given nn'n% and 1 n»»19; since they forgot (see II above) which — all nnn%
(a) Therefore: since 4 cannot be 1¥1, it must have all been about 7'’ 129p exclusively
4 Explanation2 (jn2 77): originally, 1 was given nn>n% but they forgot which — made all 5 nnnb
(a) Challenge: check if it was given with Tn ni11p or Max
(b) Answer: they forgot both — which was nn»mb and if it was given among 7 129p or ¥"p
(i) Conclusion: they learned wmann 11 INY, since only 2 of these are possible with Max 127p
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